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	0,25 + 0,75 = 1
5,25 + 0,75 = 6
8,25 + 1,75 = 10
	0,35 + 0,65 = 1
0,48 + 0,52 = 1
3,71 + 3,29 = 7
	14,25+ 5,75 = 20
14,31+ 15,69 = 30
42,84+ 57,16 = 100


1./ Calcule :

	
	
	

	470,3 + 809,82 = 1 280,12
	4,04 + 38,967 = 43 ,007
	8 472 + 0,309 = 8 472,309

	41710, 3 ..
+    8 0 9, 8 2

1 2 8 0, 1 2


	
	1   14,10 4 ..
+   3 8, 9 6 7

4 3, 0 0 7


	
	8 4 7 2, 0 0 0
+           0, 3 0 9

8 4 7 2, 3 0 9
	


	
	
	

	58,06 + 371,97 = 430,03
	0,0457 + 0,0543 = 0,1
	63,8 + 4 761,7 = 4 825,5

	1     518,10 6
+   3 7 1, 9 7

4 3 0, 0 3

	
	0,101415 7
+   0, 0 5 4 3

0, 1 0 0 0 
	
	417 611, 7

+        6 3, 8

4 8 2 5, 5


	


	
	
	

	0,11 + 0,9 + 0,09 = 1,1
	99,9 + 0,99 + 9,09 = 109,98
	1,011 + 0,01 + 4,108 = 5,129

	10, 11 1

+   0, 9 ..
+   0, 0 9

1, 1 0
	
	1919, 19  .
+     0, 9 9
+     9, 0 9

1 0 9, 9 8
	
	4, 1 0 8

+   1, 0 1 1
+   0, 0 1 0  

5, 1 2 9
	


2./ Calcule et complète :

	1 = 0,7 + 0,3
	5 = 4,25 + 0,75
	10 = 0,25 + 9,75
	15 = 9,5 + 5,5

	
	
	
	

	1 = 0,25 + 0,75
	5 = 2,25 + 2,75
	10 = 4,5 + 5,5
	15 = 9,25 + 5,75

	
	
	
	

	1 = 0,34 + 0,66
	5 = 1,25 + 3,75
	10 = 2,25 + 7,75
	50 = 20,25 + 29,75

	
	
	
	

	1 = 0,2 + 0,8
	5 = 0,25 + 4,75
	10 = 4,45 + 5,55
	50 = 4,75 + 45,25

	
	
	
	

	1 = 0,85 + 0,15
	5 = 0,3 + 0,7
	10 = 9,25 + 0,75
	58 = 16,63 + 41,37

	
	
	
	

	1 = 0,55 + 0,45
	5 = 0,38 + 4,62
	10 = 3,25 + 6,75
	58 = 29,16 + 28,84


3./ Calcule et complète :

	5 +
	4

10
	=
	5 + 0,4 = 5,4
	24 + 
	35

10
	=
	24 + 3,5 = 27,5

	
	
	
	
	
	
	
	

	8 +
	74

100
	=
	8 + 0,74 = 8,74
	75 +
	483

100
	=
	75 + 4,83 = 79,83

	
	
	
	
	
	
	
	

	7 +
	25

1 000
	=
	7 + 0,025 = 7,025
	684 +
	937

10
	=
	684 + 93,7 = 777,7

	
	
	
	
	
	
	
	

	15 +
	15

100
	=
	15 + 0,15 = 15,15
	802 +
	407

10
	=
	802 + 40,7 = 842,7


